1surl

DROIT

DESIGNATION
Poignée de gaz tournante

Poignée caoutchouc gauche
Vis CHC M4*25 C8.8 ZFN
Ecrou & embase HM6
Caoutchouc embout guidon
Embout de guidon
Vis CHC M6*50-24 C8,8 ZFN
Rétroviseur droit
Rétroviseur gauche
Guidon
Cible starter
Cable accélérateur
Commodo droit
Commodo gauche
Vis CHC M4*20 C8,8 ZFN
Vis CHC M4*40-20 C8,8 ZFN
Manette starter

Guidon 242

GAUCHE

CODE PIECE
F01 24 206 XX
F01 24 208 XX
Q01 V0 163 XF
Q01 E0 004 XE
F0124212 XX
F01 24214 BX
Q01 V0 027 XF
F03 24 128 AX
FO03 24 130 AX
F03 24 104 DX
F03 24 150 AX
F03 24 152 AX
F01 24 230 XX
FO01 24232 XX
Q01 V0 164 XF
Q01 V0 165 XF
FO1 24 262 XX




